Math Algebra 6_4

Student Name: Date:
1 2.
Weights of 5 Dogs
100
90

5 80

€ 70 =

S &0 a=4

S sopbH

S a0 b=9

5 330 —

2 o axbe=
- =
¢ —| '— —

DogA DogB DogC DogD DogE
Dog
Which dog weighs the least?
A. Dog C A. 16
B. Dog D B. 49
C. Dog B C. 36
3. 4
3x4+5= 7x(5+1)=
A.7+5 A. 35+1
B. 12+5 B.7+5

C.3x9 C.7x6



5.
4(8y) = 8(8 x 4)
y=__
A. 16
B. 4
C.8
7.

Book Aiis 50 pages long.
Book B is 20 pages long.
50-20=y

What is y?

How many pages Book A and Book B
" have together

How many more pages Book A has
" than Book B

How many more pages Book B has
" than Book A

4s =24
S=_
C.8
8.
j-4=20
j=__
A. 24
B. 14
C. 16
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One bike has 2 wheels. Which fits this?
Which shows how many wheels (y) 4

bikes have?
A.y=2x4 A.6+2=y
B.y=4-2 B.2+2+y=6
C.y=2+4 C. 2(y)=6
1. 12.

Xx—12=45 14x5-6=8%x8~-y

X=__ y=__

A. 58 A. 1
B. 33 .2
C. 57 C.0



13. 14.

18x2+3=12a+3

3zx4+3=
a=___
A. 5 A. 15z
B. 23z
C. 12z+3
15. 16.
There are (y) apples.
8x—-3x—-3= 6 friends share them evenly.
Which shows this?
A. 5x+3 A.y+6
B. 2x B.y-6
C. 5x-3 C. 6}y
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